
M
 1:10

D
E

TA
IL "Z5"

1

±
0,000=

635,57 m
.n.m

.

- D
Ř

EVĚN
É M

AD
LO

 BU
D

E Z BU
KO

VÉH
O

 Č
I D

U
BO

VÉH
O

 D
Ř

EVA S Ú
PR

AVO
U

 PO
VR

C
H

U
BEZBAR

VÝM
 LAKO

VÁN
ÍM

.
- D

ISPO
ZIC

E JE PATR
N

Á V PŮ
D

O
R

YSE 2.N
P. V PŘ

ÍPAD
Ě , ŽE BU

D
E ZA M

AD
LEM

 Č
I N

ÁR
AZN

ÍKO
VO

U
LIŠTO

U
 U

M
ÍSTĚN

O
 ZAPU

ŠTĚN
É TEC

H
N

O
LO

G
IC

KÉ ZAŘ
ÍZEN

Í (JAKO
 N

APŘ
. EL. R

O
ZVAD

ĚČ
,

R
O

ZD
ĚLO

VAČ
 PR

O
 PO

D
LAH

O
VÉ VYTÁPĚN

Í) BU
D

E V TĚC
H

TO
 M

ÍSTEC
H

 M
AD

LO
 Č

I LIŠTA
PŘ

ER
U

ŠEN
A, TAK ABY BYL K N

IM
 ZAJIŠTĚN

 BEZPR
O

BLÉM
O

VÝ PŘ
ÍSTU

P.

PO
ZN

Á
M

K
Y

2

D
Ř

E
V

O
 - dubové


